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R e | BT R | B2 | e | e | B2 | BT e | B2 | TR | & | e
1 100kN/m##B %% 1.00{0.00 ~ 4.00 165.44|3m%x#%5(0.00 ~ 242 4.18 22.35| 100kN/m#%#8% % 1.00] 10.63 ~ 63.25 165.44| 3m%x#E% 5| 25.00 ~ 63.25| 4.18 22.35
s 1.00]4.00 ~ 11.79 100.00f Zhlst | 242 ~ 11.79] 3.00 16.05 s 1.00] 5.00 ~ 10.63 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
9 100kN/m##8 %% 1.00{0.00 ~ 4.08 166.84|3m%x#%5[0.00 ~ 255 4.29 22.97| 100kN/mM#%#8% % 1.00| 10.87 ~ 63.31 166.84| 3m%x#E% 5| 25.00 ~ 63.31| 4.29 22.97
s 1.00]4.08 ~ 11.86 100.00f Zh st | 255 ~ 11.86] 3.00 16.05 s 1.00] 5.00 ~ 10.87 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
3 100kN/mM##8 %% 1.00{0.00 ~ 3.83 162.39|3m%x#%5(0.00 ~ 2.87| 4.62 24.74| 100kN/mM#%#8% % 1.00] 12.27 ~ 56.23 162.39| 3m%#E% 5| 20.00 ~ 56.23| 4.62 24.74
s 1.00]3.83 ~ 11.62 100.00f =h st | 2.87 ~ 11.62] 3.00 16.05 s 1.00] 5.00 ~ 12.27 100.00| =hList | 500 ~ 20.00| 3.00 16.05
4 100kN/m##B % % 1.00{0.00 ~ 3.80 161.82|3m%x#%%[0.00 ~ 2.89| 4.65 24.91| 100kN/mM%#8% % 1.00] 1245 ~ 57.85 161.82|3m#%#E%2 5| 20.00 ~ 57.85| 4.65 2491
s 1.00/3.80 ~ 11.59 100.00f Z=h st |2.89 ~ 11.59] 3.00 16.05 s 1.00] 5.00 ~ 1245 100.00| =hList | 500 ~ 20.00| 3.00 16.05
5 100kN/m##B %% 1.00{0.00 ~ 3.70 159.94|3m%x#%%[0.00 ~ 295 4.73 25.30| 100kN/m#%#8% % 1.00] 12.94 ~ 60.10 159.94|3m%#E% 5| 20.00 ~ 60.10] 4.73 25.30
s 1.00]3.70 ~ 1148 100.00f Zh st |2.95 ~ 11.48] 3.00 16.05 s 1.00] 5.00 ~ 1294 100.00| =hList | 500 ~ 20.00| 3.00 16.05
6 100kN/m##8 %% 1.00{0.00 ~ 4.02 165.75|3m%x#%5[0.00 ~ 2.53| 4.27 22.88| 100kN/m#%#8% % 1.00] 10.82 ~ 53.99 165.75|3m##8 2 5[ 25.00 ~ 53.99| 4.27 22.88
s 1.00]4.02 ~ 11.80 100.00f Z=h st | 253 ~ 11.80] 3.00 16.05 s 1.00] 5.00 ~ 10.82 100.00| =hList | 500 ~ 25.00/ 3.00 16.05
100kN/mM%E{BZ 5 ~ ImEHBZRD ~ 100kN/mM%#8% % ~ IMEBZD ~
Zh st ~ zhLst ~ Zh st ~ ZnLst ~
100kN/MZ#8 2 % ~ 3ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/ MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEEZD ~
zhs ~ zhs ~ zhst ~ st ~
100kN/mM%#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ st ~
100kN/mMZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ 3mEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/M%#28 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zhs ~ zhst ~ zhst ~ ZhLst ~
100kN/MZ#8 2 % ~ ImEHBRD ~ 100kN/ M%#BZ % ~ ImEBZD ~
zh st ~ zhs ~ zhst ~ st ~ |
BEFR



